




Seven boxes were kept one above the other 
from top to bottom. Only two boxes are kept 
between B and U. V is kept just above S. Only 
three boxes are kept between S and T. More 
than three boxes are kept below T. U is kept 
above T. L is kept above B and below A.
सात डिबे्ब एक के ऊपर एक ऊपर से नीचे की ओर
रखे गए थे। B और U के बीच केवल दो डिबे्ब रखे गए
हैं। V को S के ठीक ऊपर रखा गया है। S और T के
बीच केवल तीन डिबे्ब रखे गए हैं। T के नीचे तीन से
अडिक डिबे्ब रखे गए हैं। U को T के ऊपर रखा गया
है। L को B के ऊपर और A के नीचे रखा गया है। .



Seven boxes were kept one above the other 
from top to bottom. Only two boxes are kept 
between B and U. V is kept just above S. Only 
three boxes are kept between S and T. More 
than three boxes are kept below T. U is kept 
above T. L is kept above B and below A.
Which of the following box is kept at the top 
most position? 
a) B
b) L
c) S
d) A
e) None of these



Seven boxes were kept one above the other 
from top to bottom. Only two boxes are kept 
between B and U. V is kept just above S. Only 
three boxes are kept between S and T. More 
than three boxes are kept below T. U is kept 
above T. L is kept above B and below A.
Number of boxes kept below B is same as 
number of boxes placed above_______?
a) T
b) L
c) A
d) U
e) None of these



Seven boxes were kept one above the other 
from top to bottom. Only two boxes are kept 
between B and U. V is kept just above S. Only 
three boxes are kept between S and T. More 
than three boxes are kept below T. U is kept 
above T. L is kept above B and below A.
Four of the following five are alike in a certain 
way and hence form a group find which one 
of the following does not belong to that 
group?
a) A-T
b) L-T
c) T-B
d) B-S
e) L-V



Eight boxes were kept one above the one in the form 
of a stack. Three boxes were kept between A and G. 
One box was kept between C and D. Not more than 
two boxes were kept between B and C. No boxes were 
kept between A and D. Three boxes were kept between 
E and F. Two boxes were kept between B and F. Box H 
was kept immediately below box E. E was kept at the 
top. F is kept above B.
आठ डिबे्ब एक के ऊपर एक ढेर के रूप में रखे गए थे। A और G 
के बीच तीन बॉक्स रखे गए थे। C और D के बीच एक बॉक्स रखा
गया था। B और C के बीच दो से अडिक बॉक्स नही ीं रखे गए थे। A 
और D के बीच कोई बॉक्स नही ीं रखा गया था। E और F के बीच
तीन बॉक्स रखे गए थे। B और F के बीच रखे गए थे। डिब्बा H, 
डिब्बा E के ठीक नीचे रखा गया था। E सबसे ऊपर रखा गया
था। F को B के ऊपर रखा गया है।



Eight boxes were kept one above the one in the form 
of a stack. Three boxes were kept between A and G. 
One box was kept between C and D. Not more than 
two boxes were kept between B and C. No boxes were 
kept between A and D. Three boxes were kept between 
E and F. Two boxes were kept between B and F. Box H 
was kept immediately below box E. E was kept at the 
top. F is kept above B.
How many boxes were kept between G and E?
a) Four
b) More than four
c) Three
d) Two
e) One



Eight boxes were kept one above the one in the form 
of a stack. Three boxes were kept between A and G. 
One box was kept between C and D. Not more than 
two boxes were kept between B and C. No boxes were 
kept between A and D. Three boxes were kept between 
E and F. Two boxes were kept between B and F. Box H 
was kept immediately below box E. E was kept at the 
top. F is kept above B.
Which of the following box was kept immediately
above C?
a) H
b) B
c) G
d) D
e) F



Eight boxes were kept one above the one in the form 
of a stack. Three boxes were kept between A and G. 
One box was kept between C and D. Not more than 
two boxes were kept between B and C. No boxes were 
kept between A and D. Three boxes were kept between 
E and F. Two boxes were kept between B and F. Box H 
was kept immediately below box E. E was kept at the 
top. F is kept above B.
The number of boxes kept below box G was the
same as between the number of boxes kept above box
_______
a) E
b) F
c) H
d) C
e) D



Seven boxes, A, B, C, D, E, F, and G are kept one 
above another in different stacks but not necessarily 
in the same order. These stacks are numbered 1 to 7 
from bottom to the top respectively. G is kept at an 
odd prime numbered position. Three boxes are 
stacked in between A and F, A is kept at a position 
below G. Box B is kept immediately below box D. Box 
C is not adjacent to box A. Three boxes are kept 
between D and G, D is kept above G.
सात बॉक्स, A, B, C, D, E, F, और G को अलग-अलग ढेर में एक
के ऊपर एक करके रखा जाता है लेडकन जरूरी नही ीं डक इसी
क्रम में हो। इन ढेरो ीं पर क्रमशः नीचे से ऊपर तक 1 से 7 तक
सींख्याएँ अींडकत होती हैं। G को डवषम अभाज्य सींख्या वाले स्थान
पर रखा गया है। A और F के बीच तीन बॉक्स रखे गए हैं, A को G 
के नीचे रखा गया है। बॉक्स B को बॉक्स D के ठीक नीचे रखा
गया है। बॉक्स C, बॉक्स A के डनकट नही ीं है। D और G के बीच
तीन बॉक्स रखे गए हैं। D G के ऊपर रखा गया है।



Seven boxes, A, B, C, D, E, F, and G are kept one 
above another in different stacks but not necessarily 
in the same order. These stacks are numbered 1 to 7 
from bottom to the top respectively. G is kept at an 
odd prime numbered position. Three boxes are 
stacked in between A and F, A is kept at a position 
below G. Box B is kept immediately below box D. Box 
C is not adjacent to box A. Three boxes are kept 
between D and G, D is kept above G.
How many boxes are kept between B and E?
a) 2
b) 1
c) 3
d) 4
e) None of the above



Seven boxes, A, B, C, D, E, F, and G are kept one 
above another in different stacks but not necessarily 
in the same order. These stacks are numbered 1 to 7 
from bottom to the top respectively. G is kept at an 
odd prime numbered position. Three boxes are 
stacked in between A and F, A is kept at a position 
below G. Box B is kept immediately below box D. Box 
C is not adjacent to box A. Three boxes are kept 
between D and G, D is kept above G.
Which of the following box is kept at the lowermost 
position?
a) E
b) C
c) F
d) A
e) None of the above



Seven boxes, A, B, C, D, E, F, and G are kept one 
above another in different stacks but not necessarily 
in the same order. These stacks are numbered 1 to 7 
from bottom to the top respectively. G is kept at an 
odd prime numbered position. Three boxes are 
stacked in between A and F, A is kept at a position 
below G. Box B is kept immediately below box D. Box 
C is not adjacent to box A. Three boxes are kept 
between D and G, D is kept above G.
Which of the following box is adjacent to box G?
a) B
b) F
c) A
d) C
e) None of the above



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
आठव्यक्ति, A, B, C, D, E, F, G और H एक इमारत के डवडभन्न
तलो ीं पर रहते हैं, जहाँ सबसे नीचे का तल 1 है और इसके ऊपर
का तल 2 है और इसी प्रकार आगे। G चौथी मींडजल पर रहता है।
B, C के ऊपर से दूसरे स्थान पर रहता है, जो एक सम सींख्या
वाली मींडजल पर नही ीं रहता है। F, D के ठीक ऊपर रहता है। F 
और H के बीच तीन व्यक्ति रहते हैं। E, F के डनकट नही ीं रहता है।
B और E के बीच ठीक दो व्यक्ति नही ीं रहते हैं। A सबसे ऊपरी
मींडजल पर नही ीं रहता है। C के ऊपर रहने वाले व्यक्तियोीं की
सींख्या E के नीचे रहने वाले व्यक्तियोीं की सींख्या के बराबर नही ीं है।



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
Who lives immediately above A?
a. F
b. D
c. C
d. G
e. None of these



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
How many persons live above H?
a. Two
b. Four
c. One
d. Five
e. None of these



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
Sum of the floor numbers of C and F is ____.
a. 6
b. 4
c. 7
d. 9
e. None of these



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
Who lives on the topmost floor?
a. H
b. A
c. D
d. E
e. None of these



Eight persons, A, B, C, D, E, F, G and H live on different 
floors of a building, where the bottommost floor is 1 
and the floor above it is 2 and so on. G lives on 4th 
floor. B lives 2nd to the above of C, who doesn’t live 
on an even numbered floor. F lives just above D. Three 
persons live between F and H. E doesn’t live adjacent 
to F. Exactly two persons don’t live between B and E. A 
doesn’t live on the topmost floor. Number of persons 
living above C is not equal to the number of persons 
living below E.
Two persons live between __ and__.
a. A, D
b. E, F
c. H, A
d. G, H
e. None of these



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

आठव्यक्ति, X1, X2, X3, X4, X5, X6, X7 और X8 एकआठ

मींडजला इमारत की डवडभन्न मींडजलो ीं पर रहते हैं, जहाीं सबसे नीचे

की मींडजल 1 है और इसके ऊपर की मींडजल 2 है और इसी तरह

आगे। X5 और X3 के बीच तीन व्यक्ति रहते हैं, जो X1 के ठीक

नीचे रहता है। X1 और X2 के बीच एकव्यक्ति रहता है। X5 और

X4 के बीच एक व्यक्ति रहता है, जो X1 के आस-पास नही ीं रहता

है। X7 और X8 के बीच एकव्यक्ति रहता है। X7 और X6 के बीच

कम से कम तीन व्यक्ति रहते हैं। X5 सबसे डनचली मींडजल पर

नही ीं रहता है। X6 सबसे ऊपरी मींडजल पर नही ीं रहता है। X7, X4 

से ऊपर रहता है।



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

________ lives on the topmost floor

a. X4

b. X7

c. X8

d. Either (a) or (b)

e. None of the above



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

How many persons live below X2?

a. 2

b. 4

c. 3

d. 1

e. None of the above



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

______ lives adjacent to X4.

a. X8

b. X7

c. X5

d. Both (a) and (b)

e. Either (b) or (c)



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

____ lives on the 6th floor.

a. X3

b. X6

c. X8

d. X4

e. X5



Eight persons, X1, X2, X3, X4, X5, X6, X7 and X8 live

on different floors of an eight-storey building, where 

the bottommost floor is 1 and the floor above it is 2 

and so on. Three persons live between X5 and X3, who 

lives just below X1. One person lives between X1 and 

X2. One person lives between X5 and X4, who doesn’t 

live adjacent to X1. One person lives between X7 and 

X8. At least three persons live between X7 and X6. X5 

doesn’t live on the bottommost floor. X6 does not live 

on topmost floor. X7 lives above X4. 

How many persons live above X5?

a. 2

b. 5

c. 1

d. 3

e. 4




